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Mark studies very hard and never classes. He goes

to school even when he is sick.

(1) loses (2) misses (3) changes (4) forgets -

Have you got anything for Joe ? He’ d be happy to

get your gift on his birthday.

(1) almost (2) either (3) soon (4) yet -

Playing sports at least three times a week good for

your health.

(1) is (2) are (3) has (4) have -

My parents have different hobbies. One enjoys baking;
enjoys taking pictures.

(1) another (2) the next (3) the other (4) the second -

The paint on the wall i1s not as as 1t was ten years

ago. It has changed from white to gray.

(1) bright (2) heavy (3) sure (4) young -

[ told you this road went the wrong way, but you just

wouldn’ t listen. Now we have to and take another

7



road.

(1) go ahead (2) move away (3) pass by (4) turn back -
( 2 ) 47. Which of the following is a HIML tag?

(D {pt (2) <p> (3) (p) (4 [p]

(1 ) 48. What does things like that mean?
(1) Problems about the free coffee plan.
(2) Trouble for people who go to Flora Café.
(3) Ways to make the free coffee plan successful.

(4) Good things free coffee will bring to Flora Café.



(1) 49. What can we learn about Josh and Eric?
(1) Josh was not able to change Eric’ s mind about free
coffee.
(2) Eric has more hope for the free coffee plan than Josh
does.
(3) They found a way to make people feel OK to take free
coffee.
(4) They do not know whether Flora Café will do business
honestly.

( 4 ) 50. What do we know about Flora Café from the dialogue?
(1) It has a way to know who really is poor.
(2) Free coffee has brought it more business.
(3) People pay less for free coffee than other coffee.
(4) Its blackboard shows if there are free coffees to be

taken.



